		Goodwii	GoodwinGoodwin		
No.	Item	Bid Quantity	Bid Unit	Unit Price	Extension
	LIGHT CLEANING (Up to 3 Cleaning Pa			'	
1	6" to 12" Diameter	45,000	LF	\$2.25	\$101,250.0
2	18" to 24" Diameter	2,500	LF	\$3.00	\$7,500.0
3	30" to 36" Diameter	3,750	LF	\$5.00	\$18,750.0
4	42" Diameter	1,250	LF	\$7.00	\$8,750.0
	HEAVY CLEANING (4 to 10 Cleaning Pa	ISSES)			
5	6" to 12" Diameter	22,500	LF	\$3.25	\$73,125.0
6	18" to 24" Diameter	5,000	LF	\$15.00	\$75,000.0
7	30" to 36" Diameter	3,750	LF	\$18.00	\$67,500.0
8	42" Diameter	1,250	LF	\$25.00	\$31,250.0
	ROOT REMOVAL (CUTTING) 6" to 12" Diameter	11,250	LF	\$2.50	¢20.425.0
9 10	18" to 24" Diameter		LF		\$28,125.0
	30" to 36" Diameter	1,000 750	LF	\$25.00 \$25.00	\$25,000.0
11 12	42" Diameter	250	LF	\$25.00	\$18,750.0 \$6,250.0
12	42 Diameter	250	LI	\$25.00	φ0,230.0
	CCTV INSPECTION				
13	6" to 12" Diameter	62,500	LF	\$2.00	\$125,000.0
14	18" to 24" Diameter	10,000	LF	\$2.25	\$22,500.0
15	30" to 36" Diameter	10,000	LF	\$3.25	\$32,500.0
16	42" Diameter	5,000	LF	\$3.25	\$16,250.0
	LARGE DIAMETER SEWER LINE INSPECTION & SONAF	R & LASER P	ROFILING		
17	≥ 18" Diameter	1,500	LF	\$15.00	\$22,500.0
	FOAMING ROOT CONTROL				
18	6" to 12" Diameter	5,000	LF	\$5.00	\$25,000.0
10	8" Diameter	75 1	EA	¢2,000,00	Φ7E 000 (
19 20	10" Diameter	25 25	EA EA	\$3,000.00 \$3,300.00	\$75,000.0 \$82,500.0
21	12" Diameter	25	EA	\$3,600.00	\$90,000.0
<u> </u>	12 Dianicio	25	LA	\$3,000.00	φ90,000.0
	TRENCHLESS LATERAL CONNECTION REP	PAIR (LCR)			
22	Trenchless LCR Setup Per Manhole to Manhole Segment	5	EA	\$6,000.00	\$30,000.0
23	UV Light Cured LCR - 6" to 12" Dia. Main, 4" to 6" Diameter Lateral, Up to 18" Long	5	EA	\$5,000.00	\$25,000.0

	MANHOLE FRAME AND COVER REPLACE	MENT			
24	Frame & Cover Installation (Frame & Cover Provided By RWU)	50	EA	\$700.00	\$35,000.00
	CEMENTITIOUS & EPOXY MANHOLE RENOVATION ANI	DIDE EN	DSEALS		
25	Cementitious (Type 1 Portland Cement) Lining	\$1,700.00	\$416,500.00		
26	Epoxy Lining	245 245	SY SY	\$400.00	\$98,000.00
20	Lpoxy Lilling	243		Ψ400.00	ψ90,000.00
	FLEXIBLE MANHOLE CHIMNEY SEALA	NT			
27	Chimney Sealant	75	EA	\$2,300.00	\$172,500.00
	MANHOLE GROUTING				
28	Setup Per Manhole	10	EA	\$1,600.00	\$16,000.00
	Social Localities				
29	Manhole Grouting Labor, Including Operators and Equipment	30	HR	\$450.00	\$13,500.00
30	Injectable Grout	50	GAL	\$325.00	\$16,250.00
	OPEN CUT SEWER LINE			<u> </u>	
31	6" Dia. Point Repair, 0' - 6' Deep, Up to 12' Long	50	EA	\$8,000.00	\$400,000.00
32	Additional Footage - 6" Dia. Point Repair, 0' - 6' Deep	13	LF	\$225.00	\$2,925.00
33	8" Dia. Point Repair, 0' - 6' Deep, Up to 12' Long	50	EA	\$8,000.00	\$400,000.00
34	Additional Footage - 8" Dia. Point Repair, 0' - 6' Deep	13	LF	\$225.00	\$2,925.00
35	10" Dia. Point Repair, 0' - 6' Deep, Up to 12' Long	10	EA	\$8,000.00	\$80,000.00
36	Additional Footage - 10" Dia. Point Repair, 0' - 6' Deep	5	LF	\$125.00	\$625.00
37	12" Dia. Point Repair, 0' - 6' Deep, Up to 12' Long	10	EA	\$9,300.00	\$93,000.00
38	Additional Footage - 12" Dia. Point Repair, 0' - 6' Deep	5	LF	\$175.00	\$875.00
39	18" Dia. Point Repair, 0' - 6' Deep, Up to 12' Long	1	EA	\$12,000.00	\$12,000.00
40	Additional Footage - 18" Dia. Point Repair, 0' - 6' Deep	1 750	LF	\$375.00	\$375.00
41	8" Dia. New Sewer Main, 0' - 6' Deep (Max 350')	750	LF	\$175.00	\$131,250.00
42	10" Dia. New Sewer Main, 0' - 6' Deep (Max 350') 12" Dia. New Sewer Main, 0' - 6' Deep (Max 350')	125	LF LF	\$210.00	\$26,250.00
43	12 Dia. New Sewer Main, 0 - 6 Deep (Max 350)	250	LF	\$250.00	\$62,500.00
44	Additional Depth of Sewer Main, 6' - 8'	1,183	LF	\$50.00	\$59,150.00
45	Additional Depth of Sewer Main, 8' - 10'	178	LF	\$75.00	\$13,350.00
46	Additional Depth of Sewer Main, 10' - 12'	10	LF	\$125.00	\$1,250.00
	OPEN CUT LATERAL SEWER LINE				
47	Lateral Connection Repair on 6" Dia Main, Repair Only	50	EA	\$4,500.00	\$225,000.00
48	Lateral Connection Repair on 8" Dia Main, Repair Only	50	EA	\$4,500.00	\$225,000.00
49	Lateral Connection Repair on 10" Dia Main, Repair Only	5	EA	\$5,000.00	\$25,000.00
50	Lateral Connection Repair on 12" Dia Main, Repair Only	5	EA	\$5,500.00	\$27,500.00
	,,,			+2,223.00	+=-,000.00
51	Replacement/Repair of 4" Dia. Sewer Lateral	300	LF	\$65.00	\$19,500.00
52	Repair at a Depth of 6' - 8'	425	LF	\$50.00	\$21,250.00
53	Additional Depth of 8' - 10'	65	LF	\$75.00	\$4,875.00
54	Additional Depth of 10' - 12'	5	LF	\$125.00	\$625.00
				†	

	INSTALLATION OF NEW MANHOLES	,			
55	4' Dia. Manhole, ≤ 6' Deep	10	EA	\$6,000.00	\$60,000.00
56	Additional Depth for a 4' Dia. Manhole	20	LF	\$700.00	\$14,000.00
57	6' Dia. Manhole, ≤ 16' Deep	1	EA	\$30,000.00	\$30,000.00
58	Additional Depth for a 6' Dia. Manhole	1	LF	\$1,500.00	\$1,500.00
59	Remove Existing Manhole	10	EA	\$1,500.00	\$15,000.00
60	Abandon in Place Existing Manhole	1	EA	\$1,000.00	\$1,000.00
	EASEMENT CLEARING AND GRUBBIN				
61	Easement Clearing and Grubbing (15' Wide Strip)	14,175	LF	\$10.00	\$141,750.00
62	Removal & Replacment of 6' Privacy Fencing	1,000	LF	\$52.00	\$52,000.00
63	Removal & Replacment of 6' Chain Link Fencing	1,000	LF	\$50.00	\$50,000.00
64	Removal & Replacment of 4' Chain Link Fencing	5,000	LF	\$45.00	\$225,000.00
	PIPE BURSTING - HORIZONTAL DIRECTIONA	N ROPE			
65	Setup Per Each Pipe Bursted Segment	5	EA	\$5,500.00	\$27,500.00
66	Pipe Bursting for 6" Dia. VCP to 8" HDPE	2,000	LF	\$225.00	\$450,000.00
67	Lateral Reconnects	60	EA	\$2,600.00	\$156,000.00
- 01				Ψ2,000.00	Ψ100,000.00
	BY-PASS PUMPING				
68	4-Inch By-Pass Pump	1	DAY	\$1,000.00	\$1,000.00
69	6-Inch By-Pass Pump	1	DAY	\$1,600.00	\$1,600.00
70	8-Inch By-Pass Pump	1	DAY	\$2,900.00	\$2,900.00
	TRAFFIC CONTROL				
71	Local Street Closure (Up to 3-Days)	5	EA	\$1,500.00	\$7,500.00
72	Local Street Closure (Each Additional Day)	1	EA	\$300.00	\$300.00
70	Short Duration Traffic Control for Collector or Arterial (Up to 3-	1	Ε.Δ	\$1,800.00	\$1,800.00
73	Days) Short Duration Traffic Control for Collector or Arterial (Each		EA	7 1,000 100	+ 1,00000
74	Additional Day)	1	EA	\$300.00	\$300.00
	1				
	SURFACE REPAIR WORK				
75	3" of Topsoil	1,000	SY	\$5.00	\$5,000.00
76	Seed and Straw	1,000	SY	\$5.00	\$5,000.00
77	Bermuda Sod	250	SY	\$10.00	\$2,500.00
78	Concrete 5" Thick Min.	615	SY	\$110.00	\$67,650.00
79	Asphalt 3" Thick Min.	1,250	SY	\$165.00	\$206,250.00
80	Sidewalk 4" Thick Min.	10	SY	\$95.00	\$950.00
				n	
		BIE	SUBTOTAL:	\$5,136	3,975.00
	PRIORITY MULTIPLIER				
	Priority (Start w/in 7 business days)			<u> </u> 	
81	{BID SUBTOTAL * .02 * Priority Multiplier}		Multiplier	1.40	\$143,835.30
82	Emergency (Start w/in 24 Hours) {BID SUBTOTAL * .01 * Emergency Multiplier}		Multiplier	3	\$256,848.75

Total Bid Price: \$5,537,659.05